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1. x%+x%+ 16 is exactly divisible by x, where x is |4 The number of different solutions of the

a positive integer. The number of all such equation x +y + z = 12, where each of x, y and

) ) z 13 a posifive integer, is
possible values of x is

‘(@) 53
by 4 . (e) b5
© 5 d 56
d 6

5. If 1 =2a%+b2+c? where a and b are

consecutive integers and ¢ = ab, then I is

2. The number of (a, b, ‘.:)’ where a, b, ¢ are (a) an even number and it is not a square of

an integer
positive integers such that abc =30, is ' (b) an odd number and it is not a square of
an integer
(a) 30 _
(¢) square of an even integer
(b)‘ 27 (d) square of an odd integer
() 9
d 8 | 6. If the number 23P62971335 is divisible by the
smallest odd composite number, then what is
the value of P ?
3. If the roots of the quadratic equation (@) 4
x® - dx - log,, N = 0 are real, then what is the (b} &
minimum value of N ? ) 6
d 7
(a) 1
{b) ‘1}6 7. What is the remainder when the sum
15425 4 35 + 45 + 5% is divided by 4 ?
1
—_ (@) O
(c) 100
(b) 1
(d) 1 {e) 2
10000
dy 3
DZOL-T-LKM (3-A)

https://www.pyqonline.com



1 0’

DZOL-T-LKM

3% % T TUH W AT &F 2 ?
g) 1
) 3
(e} 7

(dy 9

R FEmeT #1 LCM I HCF F1 28 1T 2 |
HCF 3R LCM %1 37%et 1740 % | o2 37 &
T HEAT 240 8, A1 GH0 SE w0 g 2

(a) 420
(b) 640
(¢) 820

(d) 1040

ﬁﬂ%ﬂ%%’ﬂ:{xn—an),(x—a)ﬁ
ﬁﬂ'lﬂ%,ﬂﬁxaﬁa%?

(a) W G0 WG o fo

(b) e TdF ¥ oY Bl n % R
(¢) Fae % fwm vyl 9@ n % R
(d) A TeAH JS FET 0 F g

12,

'13.

(4-A)

. AR 172920 5 13%%%&’5&1%% @
IET TR ?

(a) 1
b 2
© 16

d) 17

1 1 1
+ Re—_ ; * ...+
1+J§ J§+J§ J§+ﬁ

1
J99 + V100

EoRiich s R

{a) 1

=1§;x£§%,a}mwmw%?

(a) %—
) %
© %
@ i—

https://www.pygonline.com




8.  What is the digit in the unit place of 3%9 2 11. If 172020 is divided by 18, then what is the

@ 1 remainder ?
a

(@) 1
by 3

by 2
) 7

() 16
d 9

(d) 17

9. LCM of two numbers is 28 times their HCF. 12. What is the value of
The sum of the HCF and the LCM is 1740. If 1 1 1 1
: + + Font e ?
one of these numbers ig 240, then what is the 1+42 V2+43 3+ J4 JQ—Q +4/100

other number ?

(a) 1
(a) 420 ® 5
(b) 640 ' (c) 9
(c} 820 | (d 10
(d) 1040

13. Ifx® = Yx Jx Vx , then what is the value of

m?
10. {(x™ - a®) is divisible by (x — a), where x # a, for
1
every (a) 3
(a) natural number n M) - 1
4
(b} even natural number n only
3
(c) Z
(¢) odd natural number n only
@ <
(d) prime number n only 4

DZOL-T-LKM (5-A)
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14.

15.

16.

DZOL-T-LKM

(a)

The sum of all possible products taken two at
a time out of the numbers +1,+2,+3,+ 4,45
is

(a) 0

(bY =30
() =55

(d) 55

A train of length 110 m is moving at a uniform
speed of 132 km/hr. The time required to cross
a bridge of length 165 m is

(a} 65 seconds
{b) 7 seconds
(¢) 75 seconds

(d) 85 seconds

The simple interest on a certain sum is

one-fourth of the sum. If the number of years

and the rate of annual interest are

numerically equal, then the number of

years is
26
() 3

() 35

d) 5

17.

18.

(7-A)

A 60-page book has n lines per page. If the
number of lines were reduced by 3 in each
page, the number of pages would have to be
increased by 10 to give the same writing

space. What is the value of n ?

(a) 18
(b) 21
(e} 24
(d) 30

If x men working x hours per day can do
x units of work in x days, then y men working
y hours per day in y days would be able to do

k units of work. What is the value of k ?

(a) x%y~S
b) x%y2
(c) y2x”3‘
d yx?
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19. Let d(n) denote the number of positive divisors [ 21.
of a positive integer n. Which of the following
are correct ?
1. dB)=d&1D
2. d5)d(D) = d(55)
3. d(5)+d(11) = d(16)
Select the correct answer using the code given
below :
(a) 1and3only
22.
(b} 1and2only-
(¢) 2and3only
d) 1,2and3
20. IfA_ =P, + 1, where P, is the product of the
first n prime numbers, then consider the
following statements -
1. A, is always a composite number.
2. A, +2is always an odd number. 93
3. A, +1is always an even number.
Which of the above statements is/are correct ?
(a) 1only
(b) 2only
(c) 3aonly
(d) 2and3only
DZOL-T-LKM (9-A)

A shopkeeper sells his articles at their cost
price but uses a faulty balance which reads
1000 gm for 800 gm. What is the actual profit

percentage ?
(a) 20%
(by 26%
{cy 30%
d) 40%

A river 3 m deep and 40 m wide is flowing at
the rate of 2 km/hr and falls into the sea.
What is the amount of water in litres that will

fall into the sea from this river in a minute ?
(a) 40,00,000 litres

(b)  4,00,000 litres

(¢} 40,000 litres

(d) 4,000 litres

If a television set is sold at T x, a loss of 28%
would be incurred. If it is sold at T y, a profit
of 12% would be incurred. What is the ratio of
ytox?

(a) 41:9
(hy 31:9
(c) 23:9
(dy 14:9
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DZOL-T-LKM : (10-A)
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24. Bjr h{éreasing the speed of his car by 15 km/hr,

a person covers a distance of 300 km by taking
an hour less than before. What was the

original speed of the car ?

(a) 45 km/hr
(b) 50 km/hr
() 60 km/hr
(d) 75 km/hr

98. Three persons start a business with
capitals in the ratio 1 : 1 : l The first

3 4 b

person withdraws half his capital after
4 months. What is hig share of profit if the
business fetches an annual profit of 96,800 ?
(a) ¥ 32,000
{b) T 34,500
(e) T 36,000
(d) ¥ 36,800

DZOL-T-LKM

26.

27.

(11-A)

If x varies as y, then which of the following
ig/are correct 7

1. x2+y2vaﬂesasx2fy2

X . N
2. — varies inversely as y
y

3. ‘ij'xgy varies as 2 x4y2

Select the correct answer using the code given

~ below :
(a) 1and2only
(b) 2and3only
(¢) 3only
(d) 1,2and3

Ena was born 4 years after her parents
marriage. Her mother is 3 years younger than
her father and 24 years older than Ena, who is

13 years old. At what age did Ena’s father get

married ?

(a) 25 years
(b) 24 years
{c) 23 years
(d) | 22 years

https://www.pygonline.com



28.

29,

30.

DZOL-T-LKM
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(a) NH &g

(b) N A
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(d) TENF 99 | Pl wht 2
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a 2z

(a)

{b)

o o=

3L

32.

(12-A)

'ﬂ@qﬁxe—ax4+3x2w1 | LN PP P |
1 HCF +1 § ?

{a} {x+1)

() (x+ 12

© x+1

) (x+1?

d WEE F HCF 3 LCM %9 3x+ 1
A 30x° + 7" - 10x - 3 ¥ | AR wE W
6x% + 5x + 13, T 0 agwE W1 R 2

() 15x%+4x+3
(b} 1i5x®+4x~-3
(¢) 15%x%—-dx+3

(d) 15x2-4x-3

33. AR (p+2)(2q-1)=2pg-10 3K

(p-2)(29- 1) =2pg-10 B, A pq fre
T 27

{a} =10
b) -5

e) 5
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28, Mahesh is 60 years old. Ram is 5 years|3], What is the HCF of the polynomials
younger to Mahesh and 4 years elder to Raju. BS54+ 3x2 1 and X +3x2+3x+17
Babu is a younger brother of Raju and he is

6 years youngér. What is the age difference () (x+1)
between Mahesh and Babu ?

(b) (x+ 12
(a) 18 years \

(e) x +1
{h) 15 years

@ x+1°
(c) 13 years
{d} 11 years

_ 32. The HCF and the LCM of two polynomials are
99. The number of items in a booklet is N. In the 9x + 1 and 30x% + T<2 — 10x ~ 3 respectively. If

first year there is an increase of x% in this e B .
one polynomial is 6x° + 5x + 1, then what is

number and in the subsequent year there is a
th r polynomial 7
decrease of x%. At the end of the two years, ¢ other polyno
what will be the number of items in the (8)  15x%+4x+3
booklet ?

(a) LessthanN )  15x°+4x-3
(b} EqualtoN : (c) 15x°-4x+3
{¢) Morethan N @ 15xt-4x-3

(d) It depends on the value of N

a0, If ab+xy—xb=0 and be+yz-cy=10, then 33, If (p+2(2q-1)=2pq~10 and

what is -:- ¥ % equal to ? (p—2) (2q - 1) = 2pq - 10, then what is
equal to ?
(a) L paca
b
{a) -10
b 2
y b -5
e 1
© 5
@ o0
&)y 10
DZOL-T-LKM (13—A)
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34.

35.

36.

{a) 35

b 40

(c) 45

d) b4

X : .

ar. b+cmcfazb-z-a %,H}ﬁﬂf?@iﬁﬁﬁ

FN-H1 T wH R 2

{a) x+y+z=0

(b)) x-y~z2=0

£} x+y-z=0

(d) x+2y4+382=0
DZOL-T-LKM

a2+ac

a%e-c?

a.z——s:‘z Ze 3
¢+ 2ac? +¢ a

-5
H A FT 7
fa} 0

b 1

{c)

6

a+c

{d)

'8 - ax 1T AR R 0

(a) 2xf-92x-1

by ai-x-1
€) 2%%+2%+1

(@ 2xf+9%x-1

@&ga:iﬁﬁﬁw%aiaﬁmmla%
3 W& % 3T B o 3 A+ wew R
WS § 27 T AW B | H@ F oW F
OGS 4T 8 9 "

38, X YINZW § WH ¥ UHEEN 9 HA:

39.

(14-A)

4 kmv/hr, 5 kmvhr 3R 6 km/hr @ 007 &30 # |
Y, X8 26 WG YRR AT R 1 29 YA B
Y9y TEI WOV B IR aife & Qe X @
% Ty A P o

‘. Ed%
{(a) 5

(b e

|

w0

o
St
o]

11
(d) —Smw%
n T O90 9@ B, a1 - x - x® + x°! e
g & 0

(a) (1+x?

(b (1-x?

{€) 1-2x—x2

2

d) 1+2x-x

40. A T x d @ 5 @ v A o7 75

IR R I R P R A xg a g |
x e a0 & 2

{a) 20%

(b) 25%
(e} 50%

d) 100%
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a4.

35.

36.

What is the value of

a2+acw a? -¢? 2 . 3 4
aZe-c® afc+2ac’+c¢® al-c? a+c
{a) 0O
by 1
(c} ac

a? +c?
@
a+c
What is the square root of 4x* + Bx? —dx + 17
(@) 2x%-2x-1
) 2%%-x-1
© 2x*+2x+1

(d) 2x®+2x-1

The sum of the digits of a two digit number is
13 and the difference between the number and
that formed by reversing the digits is 27. What
is the product of the digits of the number ?

(a}) 35

(b 40

() 45

(d} 54

X v ‘ ,
3 I = = , then which one of the
b+c e¢+a b-a

following is correct ?

{a) x+y+z=0

{b) x-y-z=0

6) x+y-2=0

d) x+2y+3z=0
DZOL-T-LKM

38.

39.

40,

X, Y and Z travel from the same place with
uniform speeds 4 km/hr, 5 kmv/hr and 6 km/hr
respectively, Y starts 2 hours after X. How
long after Y must Z start in order that they
overtake X at the same instant ?

(a) 3 hours
2

() % hours

(€ % hours

(d) 131 hours

1-x-x"+x™1 where n is a natural number,

is divisible by
@ (1+x?
b (1-x?
(¢ 1-2x-x°
(@ 1+2x-x

A person sold an article for ¥ 75 which cost
him ¥ x. He finds that he realised x% profit on
his outlay, What is x equal to ?

(a) 20%
(b) 25%
(¢} 50%
(d) 100%

(15-A)
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41.

42,

43.

DZOL-T-LKM

UF FN I Uk A L9 § F | 3f g} ofq
& x kmph U 8RR, at a0 y 2 w0 W i
& It | amn fhah adt f 2

(a) x{t-ylty

by x(t—y)ty?

(¢} x{t-y ty?

d) x(t+yty

T & T w R w #, @ feedt g
T e & wH @ oo g F i
% IR B R 3R W 7840 m A F
4 9F05 AR § | W 12250 m Y F e
| @ 2

5 ¥
(b) 55 TH
©) 6YFE
65 AeHUE

{a)

(d)

afR 6% 45 = g (fm T R Jogy, 2 = 0301
3N logy, 3 = 0-477), A Frcfrfiga & & <
TF HE 2 2

{a) O<x<l
(b} lexc<?2
&y 2<x<3

d 8<x<4

44,

46,

47.

(16-A)

TR teifer Fefafa & @ fed feer
% foq wim 1 I & 2

(a) WW@W

(b) U U &I G

(c) T ol w1 =

(@ @ st F1 HCF

afe w e f B itz R, @ Fefafeg o
oIR8 el A 0

1 3 TS S v R

2. SHH I T |

At fw e 2 1 i ok v I g

(a) I 1

(b) Had 2
(¢) 13k 2@
) FA1AA 2

Eﬁcosac@—sinezmEﬂ'{secﬂucusthn%,
4 2 2 4

a) 0
by 1
(¢} mn

(d) m2n?

?ﬁms(}+sec9=k%,ﬁ1 sinzﬁwtangel?ﬁ“r
uH #1897

fa) 4-k
by 4-k2
() k¥-4

d) k%+2
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41.

42,

43.

47.

(8 0<x<l

(b} l<x<2

(¢} 2«x<3

(d 3<x<4
DZOL-T-LKM (17-A)

A car did a journey in t hours. Had the
average speed been x kmph greater, the
journey would have taken y hours less. How

long was the journey ?

(@) x(t-yty
(b) x(t-y)ty?
(0 x(t-yty™
(d) x{t+yty

When a ball is allowed to fall, the time it takes
to fall any distance varies as the square root of
the distance and it takes
fall 78:40 m. How long would it take to fall
122:50 m ?

4 seconds to

5 seconds

(a)
(b) 55 seconds
(c) 6 seconds

6+5 seconds

(d)

If 63 4% 4%*5 = 8 (Given log;y 2 = 0-301 and
logig3 = 0-477), then which one of the

following 1s correct ?

44.-

45.

46,

The Euclidean algorithm is used to calculate
the

(a) square root of an integer
(b)  cube root of an integer
(¢)  square of an integer

(d) HCF of two integers

If radius of a sphere is rational, then which of
the following is/are correct ?

1. Its surface area is rational.
2. [ts volume is rational.

Select the correct answer using the code given
below :

{a) 1only

(h) 2 only

(c) Bothland?2
(d) Neither 1 nor 2

If cosec 8 - sin 6 = m and sec § — cos 8 = n,
4 2 2 4

then what is m3n3 + m3n3 equal to?

(a) 0

by 1

(¢} mn
(d) mn

If cos O + sec 8 = k, then what is the value of
sin® 6 — tan®9 ?

(a) 4-k

(b) 4-k°
© k®-—4
d k?+2
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48, AB W ¥ W Y39 § TF AaAYF ABC
2| cos(A+B)+sin(h+B) ek mm i ? |

(a)

(b}

(c)

(d)

0

1

49, ﬁmﬁ«ﬂi’ﬁamﬁmﬁwﬁm

1.

2.

4 | § P FF gt i

50. TW YN & IFaHW w aimEm (e §) 7

x % P TrEatas 99 % o
(sinﬂ:xw—i- a2 |

x%ﬁ?ﬁﬁlﬁ#ﬁ%%ﬁ
cosﬁ-—-_:u-% il

Had 1

Hae 2

1 3R 28W1

T e ad 2

2
(@) %5
(b) 351‘-
© =
@ 4—5"
DZOL-T-LKM

51.

52.

(18-A)

A BT W FR 15° & i B AT
e f—;%laszﬁw'aﬁ%aﬁmmkﬂm%r
k fopmer quat 2 9

(@) %
®
() g
@ =
it Fo w rem B

1. % w aril < forg wefteor
28in?@-cosB+4 =0TV R |

2. tan®+cot®, 28 % Tl € wehar B, Tl
of:ae:l;;_

o § 4 P e ad R0

(a) . e 1

(b) A 2

(@ 13 23M

@ Fd 132

T 97 W T R ae el 1 AR

4 mB g 7w TR H w420 wEewd
2, @ frett B waim ) e =i 2

T A = )

(a) 60m

(b} 66m

(c; T5m

(d 80m
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48. ABC is a triangle inscribed in a semicircle of |51,
. diameter AB. What is cos (A + B) + sin (A + B}
equal to ?
(a) 0
1
B =
(b) n
© 2
2
d 1
49, Consider the following statements :
1. sin@=x+ 1 possiﬁle for some real
. X
value of x. b2,
2. cos8=x4+ 1 is possible for some real
X
value of x.
Which of the above statements is/are.correct ?
(a) 1lonly
(b) 2only
(¢) Both1land?2
‘(d) Neither 1 nor 2
50. What is the magnitude (in radian) of the
interior angle of a regular pentagon ? 3.
S
a —
{a) 5
2n
by 2=
(b} 5
3n
c —
() 5
4n
4 =
(d) 5
DZOL-T-LKM (19-A)

d)

The difference between two angles is 15° and
the sum of the angles in radian is f—; The
bigger angle is k times the smaller angle.

What is k equal to ?
(a) %

® %

© % |

@ %

Consider the following statements :

1. The equation 2 §in® 0 -cosB+4=0is
possible for all 6.

2.  tan 0 + cot 0 cannot be less than 2, where
0<B< % .

Which of the above statements is/are correct ?

(a)

(b)

(¢

1 only

2 only

Both 1 and 2
Neither 1 nor 2

A road curve is to be laid out on a circle. What
radius should be used if the track is to change
direction by 42° in distance of 44 m ?

(Assume n= 277%}

(a) 60m
(b} 66m
(¢ T5m
@ 8m

https://www.pyqonline.com |



54&

56.

3 sin 8~ 4 T HfeHTH U R ?

Elﬁ gin®+cosf= v@ %, Gl
sin68+coseﬂ+6sinzﬁc0528%'ﬂ%EHRI% ?

_ 1
(a) E

3
(b} E |
e 1
: 7
(d) 1

9 sin? 8 + 16 cos? 0 T AW WH T 2 7
(a) 0

b 9

{c) 16

d) 25

57. AR cos47° +5in47°=k 2, @

DZOL-T-LKM

cos® 47° - sin? 47° HAH FTR?
(8) ky2-k?
), -ky2-k2
© kyl-k?

(d) -ky1-k?2

58, 4R cosec - sin 6 = p3 WM sec0—cos 6= *

59,

{20-A)

2, W tan 01 W9 TR ?

(a) P
q
m 2
p

© pq

(@ pg?

TR 0<e, f<90° T8 VBN E & cos(a-Pr=1
g @ sin o - sin B + cos ot — cos pToRAH
TR 2

Cfa) -1

(b} O
) 1

@ 2

Pl Bt w0 Fra i

1. cos61° +sin 29° & UH 1 ¥ aftis 36 @
g1 2 |

2. . tan23° - cot 67°FH AW 0 ¥ § |
srfes 3 A v A My
(a) a1

(b) Haw 2

(© 13t 2gM

@ Ad1sRTA2
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67.

DZOL-T-LKM

What is the maximum value of 3sinf8-4 7

(a) -4
b)) -1
e . 0
d 1

If snB +cos = Ji, then what 1is

sin® 0 + cos® 6 + 6 5in% 6 cos? & equal to ?

1

3

(b) 3
ey 1

| 7

(d) 1

What i's.the least value of 9 sinZ B + 16 cos2 6 ?

{a) 0

(b} 9
(¢)
(d)

16
25

If cos 47° + sin 47° = k, then what is the value

of cos® 47° - sin? 47° ?

(a) ky2-k?
—ky2-kZ
k1-k2
_k1-k2

(b}

{c)

(d)

(21-A)

59.

{d)

58. If cosec 8 — sin 0 = p® and sec 6 — cos 8 = %,

then what is the value of tan 6 7

@ £
q

b 1
P

(¢l pq

2.2

(d) pg

If 0 < o, P < 90° such that cos (0~ B) = 1, then
what is sin o —sin p + cos ¢ —cos § equal to ?

(a) -1
h) O
) 1

d 2

Consider the following statements

1. The value of cos 61° + sin 28° cannot

exceed 1.

2. The value of tan 23° - cot 67° is less k
than 0.

Which of the above statements is/are correct 7
(a} lonly
(b) Zonly
(c) Bothland2

Neither 1 nor 2

https://www.pygonline.com
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62,
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q;m_agﬁamcnﬁ,zs:sowﬁt
AB?+BC? 4+ CD?-AD?=0%, @) £ ACD
rh w2 0

(a) 30°
b 60°
(¢} 90°

(d) 120°

UF AABCH,AC=12¢m, AB = 16 em 3N 2 A
W fguss AD® | IR BD =4 em 2, T DC
e st 20

(a) 2em
(b) 3em
{e) 4em

(d) 5em

ABCD U% S%14 9043 8 | 17 A, B, ¢ 3t D

% fowrew 99 B W P, Q, R ok s W R

%! LPQR+ £ RSP fires sust @ 7

(a) 90°

{b) 135°

(c) 180°

) 270°

(22-A)

64. ABC & wwaTg TR 2 | W91 BC,DW 3@

VR gutnnfad #dt 2 i BC = 3BD | AD?
FTAB? § UE TR ? |
(a) 7:9
by 1:3
© 5:7
@ 1:2

. Frafafiga wat o fer i .

1 e & e tham A e
e @ £ '-

2. TAcE F) gura el % i g g
F§ ft Y@ s gars ® angale
forenfor et B |

I A & IR w2

(a) *ad 1

) F9 2
@ 13 2dAt
d) TaraRade

66. IR F 7 AN I=, I gdtw va R

HYgS A H,csﬂw%,a’tarswr’-peva

| Topaes T R 7

@ C2
® 2CH2
() 5C%H2

(@) 702
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61.

62.

DZOL-T-LKM

In' a quadrilateral ABCD, ZB = 90° and
AB? + BC? + CD? - AD? = 0, then what is
£ ACD equal to 7

(a) 30°

(b} 60°

() 90°

(d) 120°

In a AABC, AC = 12 cm, AB = 16 ¢cm and AD
s the bisector of £ A. If BD = 4 cm, then what
is DC equal to ? “

(@) 2em

by 3em

4 em

()

d bem

ABCD is a cyclic quadrilateral. The bisectors
of the angles A, B, C and D cut the circle
at P, Q R and S5 respectively. What is
ZPQR + £LRSPequalto?

(a) 90°
(b) 135°
{c¢} 1BOF

(d) 270°

(23-A)

ARC is an equilateral triangle. The side BC is
trisected at D such that BC = 3 BD. What is
the ratio of AD? to AB*?

(a)
(b)
(c)
(d 1:2

7:9
1:3

B:17

Consider the following statements :

1.  The diagonals of a trapezium divide each
other proportionally.

2. Any line drawn parallel to the parailel
sides of a trapézium divides the
non-parallel sides proportionally.

Which of the above statements ja/are correet ?

(a)

(b)

(c)

(d)

1 only
2 only-
Both 1 and 2

Neither 1 nor 2

If H, C and V are respectively the height,
curved surface area and volume of a cone, then

what is 31;VH3 + 9V* equal to ?
(a) C?H?
b 2CH?
5 C?H?

7 CZH?

{e)
(d)

https://www.pygonline.com
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69,

70.
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 (a)

8 cm B ach 8 o W2 D, 2 mm
=2 At @8 A fraht 3 1 e o gt
s

512
(h)
(c)
(d)

1024
256000
512000

@ﬁ'ﬁaﬁawwcmaﬂ'{ﬂcm% | gf
éﬁgaﬁtrﬂmmm%,a‘rmmm
7

(a)
(b)
(c)
(d)

90 cm*
135 em?
150 em?
180 cm?
T HUEqy & fomol i 2 v o # ol

o o e & Wed @ 6 s ot
2 | e w1 Saew w20

(a) 48 3o
(b) 369 T
(¢) 2431 FE
@ 129t e

@ e By &1 & @ g, AR afew
B 5 em # ok =t w g mn shdee
4em??

(a) 20cem?
(b) 18 cm?
(¢} 16 cm?

d) 10em?

71.

72.

73.

74.

(24-A)

G B A, ot F % T (degree W )
it § | fefifea & & S 3wt W=
U TZT 8w 2

(a)
(b)

1:2:3
3:4:5
¢} H:6:7
d) 6:7:8

T e T 7 109 gy o e d
10% 6 Ff H 0t ¥ ) q T U F fved
T T B 2

(@ g 3t T @ it

(b) 1% 3fg
() 1% &t
(@) 10% 1 FH

q Ml & ysdmr STwET W U 1:4 B |
Fh ARG T I 1R ?

(a) 1:16

(b 1:12

e 1:10

@ 1:8

G §e A T, e ok $9rd w20 em,

15em3N10emE | 45 m i dard, 015 m H
Ster o 3 m i = Aeh A W T A
foeft § Y o 20

12450

11250

6750

94 1 | wE

(a)
(b}
{c)
(d)
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67.

How many solid lead balls each of diameter
2 mm can be made from a solid lead ball of
radius 8 cm ?

(a) 512

(by 1024
(¢) 256000
(d) 512000

88. The two sides of a triangle are 40 cm and
41 cm. If the perimeter of the triangle is
90 cm, what is its area ?

(a) 90 cm?

(b) 135 cm?®
(¢) 150 cm?
{d) 180 cm?

89. The diagonals of a rhombus differ by 2 units
and its perimeter exceeds the sum of the
diagonals by 6 units. What is the area of the
rhombus ?

(a) 48 square units
fb) 36 square units
(c) 24 square units
(d) 12 square units

70. What is the area of a right-angled triangle, if
the radius of the circumcircle is 5c¢m and
altitude drawn to the hypotenuse is 4 cm ?

(@) 20 cm?
(b) 18cm®
(¢) 16 cm?
(d 10 cm?
DZOL-T-LKM

71.

72,

73.

4.

(25-A)

In a trangle, values of all the angles are
integers (in degree measure). Which one of the
following cannot be the proportion of their
measures 7

(@ 1:2:3
by 38:4:5
(@ 5:6:7
dy 6:7:8

The length of a rectangle is increased by 10%
and breadth is decreased by 10%. Then the
area of the new rectangle is

(a) neither increased nor decreased

(b) increased by 1%
(¢) decreased by 1%
(d} decreased by 10%

The surface areas of two spheres are in the
ratio 1 ; 4. What is the ratio of their volumes ?

(a) 1:16
b 1:12
(¢ 1:10
(d» 1:8

The length, breadth and height of a brick are
20cm, 15¢m and 10cm respectively. The
number of bricks required to construct a wall
with dimensions 45 m length, 0-15 m breadth
and 3 m height is

(a) 12450

(b) 11250

() 6750

(d) None of the above

https://lwww.pygonline.com



75, R wH o9 =W H @ s & T, |78 wF B ABCH, a2 LA=3,B=64C},
o Wi afse ¥ drree & g R, A AR| A £ A+ £ CRETH TR Y ?

e ¥ ' (a) 90°
(a) HeHH (b)y 120°
(b ST © 135
(c) IS (d) 150°
(dy TS

_ 79, R G T IR wk & oo T E, @
76. TH WERR #1 TR 11 km W H 5000 T 39 % Swd F W F G 8 IR T

wma d TR i Sem w2 27
mmn=—2§} (@ 1:xm
{a) 175cm by 2:n
(b) 35em (¢} 3:m
(€ T0cm @ 4:m
@ 140em

g0. TF e Bw & ywell H Fergr FAE
77. O TEI F AR H1 A 1:4 B 3N IS ww i (om ®) & | QIR T OHH T
STE H G 4 : 5 8 | IR S W 22

S R ?
(a) 60
(a) 25:64
(hy 120
by 16:25
' ¢y 360
{¢) 9:16
d 5:9 (d) 480
DZOL-T-LKM (26-A)
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75.

76.

77.

DZOL-T-LKM

If the sum of all interior angles of a regular
polygon is twice the sum of all its exterior

angles, then the polygon is
(a) Hexagon
(b)  Octagon
(c) Nonagon

(d) Decagon

A bicycle wheel makes 5000 revolutions in
moving 11 km. What is the radius of the

wheel 7 (Assume = ?;—2 )

(@) 17-5cm
(b 35cm
(¢c) T0cm
(d) 140cm

The volumes of two cones are in the ratio 1: 4
and their diameters are in the ratio 4 @ 5.

What is the ratio of their heights ?
(a) 25:64

(b) 16:26

€ 9:16

d 5:9

(27-A)

78. In a triangle ABC,if2 /A=3 2B =6 2C,
then whatis £ A + Z C equal to ?

(a) 90°

b 120°
() 135°
(d) 150°

. If the perimeter of a circle and a square are

equal, then what is the ratio of the area of the

circle to that of the square ?

(@) 1l:m
b 2:=n
() 3:m
d) 4:n

The lengths of the sides of a right-angled
triangle are consecutive even integers (in em).

What is the product of these integers ?
(a) 60

(by 120

(¢) 360

(d) 480

https://lwww.pygonline.com
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82!
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@ A ABC# U 3w § | 78 YAl AB

3R AC %) O M I N W wet Fear 2 | 7R
90 W HE 08 3 £A=700% @ ~ MON
ormes Ttmt # 7

(a) 90°
(b 100°
ey 110°

(dy 120°

& wrR iy ) ganett % @i & anea
8,450 37 3T B | 30 FO B T ww A 2

(a) 503
(b) 55518
(c) 60FFTS
(d) 655%T8

T 9HR % § | AR By B dE wwim
TS B I R kR, A kT oA
27

ey 1

(d)

P2 | =

(28-A)

84, ¥ T % YA%A 1 FYUA m?: nt R | TH

gftme} 1 s =R o
(&) m:n
(b) n:m

(¢} m:n?

@ m:n

. By ABC &Y wfeds AD % ) AR AD W W

fig PY, @ fffem i3 o w wd 22

(@) BY" PAB ® @a%dl, BMW PAC %
et & e 2

b) BE PAB ®1 Sored, RS PAC ¥
ST F TR 2

(0 FBa PAB ® daww, fyw PAC ¥
HT% B TH-r §

(&) B PAB %1 #w%w, By PAC %
SABE FT 9 &

. B r % 0 @ % g W e w0 N I

G FH MIFAFL 7
1

1 8 9
(b) E#(B-Zsm—écosé—)

1,(. .8 @
(c) 5 r* (B~sm§ cuaa)

{d) é—irjzsing €08 'g
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82.

83.
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A circle is inscribed in a triangle ABC. It

respectively, If O is the'centl_'e of the circle and
£ A =170° then what is £ MON equal to ?

(a) 90°
(b) 100°
() 110°
d) 120° |

The sum of the squares of sides of a
right-angled triangle is 8,450 square units.
What is the length of its hypotenuse ?

(a) 50 units
(b) 55 units
{c) 60 units

(d) 65 units

A triangle and a parallelogram have equal
areas and equal bases, If the altitude of the
trianQIE is' k times the altitude of the

parallelogram, then what is the value of k ?
(a) 4
{b) 2
e 1

@ =

' (29-A)

84. Areas of two squares are in the ratio m? : n?,
touches the sides AB and AC at M and N|

What is the ratio of their perimeters ?
(a) m:n

() n:m

(¢) m:n?

(@ m?:n

AD is the median of the triangle ABC. If P is
any point on AD, then which one of the

following is correct ?

(a) Area of triangle PAB is greater than the
area of triangle PAC

(b) Area of triangle PAB is equal to area of
triangle PAC

{¢)  Area of triangle PAB is one-fourth of the
area of triangle PAC

(d) Area of triangle PAB is half of the area
of triangle PAC

What is the area of a segment of a circle of

~ radius r subtending an angle 8 at the centre ?

1

(b} %!2 {B— 2$in% cosg]

(c) %13 (B—sing cosg]

(d) %rgsin% cos %
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87. @ By ABC % fmll ¢ W wwem } | 7w

#fifim fF AC W+ fag P R 3K BC W =i
forg Q ¥ | Frafrfien ot § @ Sowd wd
R |

1. AQ?+BP?=AB? +PQ?

2. AB=2PQ

et fow U Fe F A FF wE IH g
et 1

Fad 2

1 i 2 M

Ad 1R AR 2

{a)
(b)
(c)

(d)

. MaH i e e Fam
ST T R P 3 g & W W
vl v @ q@k Rl ) T e & 1 AR
Hﬁmﬁlﬁﬁ%ﬂwmﬂcmz%,'cﬁ
wedeh fords o foo 2 0
{"Tﬁ'&ﬁﬁl’Qn::%%)

-{a) Sem

(b)

Tem

{c) 10em

d) 14em

DZOL-T-LKM

89.

(30-A)

(a)

UF e % AR ge wee A B g i
ax ¥ | AR aed I ox B, A TRA P
gAEndr

o A <=2

@ 1%

by 22x°
(¢) d4x®

@) 55x°

e o At Ted, R, duE, T<E

.mmmm:p,q,r,saﬂfté,?ﬁ

1,0 Lres s

P q T

s

b =
B
5

{c) E

@ =
t
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87. ABC is a triangle right-angled at C. Let P be |gg
any point on AC and @ be any point on BC.
Wlﬁch of the following statements is/are
correct 7
1.  AQ?+BP2=AB?+ PQ?

2. AB=2PQ
* Select the correct answer using the code given
I}I@»low: https://www.pygonline.com
(a} lonly
(b) 2 only
(¢) Bothland2
(d) Neither 1 nor 2 90.

88, Four circular coins of equal radius are placed
with their centres coinciding with four vertices
of & square. Each coin touches two other coins.

If the uncovered area of the square is 42 cm?,
then what is the radius of each coin ?|
(Assume 1t = %)
(@) 5cm
(b) 7Tem
(¢t 10em
(d) 14cem
DZOL-T-LKM (31-A)

The radit of the flat circular faces of a bucket
arz x and 2x. If the height of the bucket is 3x,
what is the capacity of the bucket ?
{Assume 7t = %2- )
{a) 11x3
(b) 22x8
(€ 44x°
(d) 55x°
If p, q, 'r, s and t represent length, breadth,
height, surface area and volume of a cuboid
. .1 1 1

respectively, then what is E + E + - equal
to?

s

2t
() —

8
(c) E

28
4 =2
(d) :

https://www.pyqgonline.com



91'

92.

93.

g aed] o il A dea § | fom areafifat 3

A7 § | weft dgm sl % ot & wifere
IR ?
(@ 6
by 65
© 7

d) 75

o 7 e, Rrdl & v w1 omew 1 9 |

8, I St it deER (gm ) 180, 191, 175, 111,
154, 141 3R 176 9% T8, @ dg@r F A
TR

(a) 1llgm

(b) 154 gm
(¢} 175gm

@ 176 gm

3 i Fefofee ot § @ Shd
7, Beefl g R I e o % shea

C AR = PR & e v 6 o

(a) HHTAL WISy

(b) VIR WTEA
() wifed

() 9T

DZOL-T-LKM

94, V& T FUCH W R wuE 2, 9 s

965.

(32-A)

# arrga ot Fard o quldt & 2
(@ 1 H fowam
(b) Tt
(c) ¥ @l Him
(d @i & sRERD

T qRaT ¥ 7 weEl B g F: 2, 5, 12, 18,
38, 40 3l 6o } | 5 & W TH W weH
TRER 6t 71 Y o9 15 9 95 AT R, @ x
A T8 9

(@) 1

(h 2
e} 3

d 4

T w41 & 100 Frenil @1 sitwa &9 46 ke
2 | T W oftwa I 50 kg 3R wEfEET
aNGa T 40 kg 3 | TefRal & weH 6 gem
et afrs 2 9

fa) " 10
by 15
(c) 20

(d) 25
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Fifteen

examination, The marks of the candidates who

candidates appeared in an

passed in the examination are 9, 6, 7, 8, 8,9,

6,5, 4 and 7. What is the median of marks of

all the fifteen candidates ?
(@) 6

(b) 65
7
(d 75

If the yield (in gm) of barley from 7 plots of
gsize one square yard each, were found to be
180, 191, 175, 111, 154, 141 and 176, then
what is the median yield ?

(a) 11lgm

(b) 154gm

(¢) 175gm

(d) 176 gm

Which one of the following measures of central
tendency will be used to determine the

average size of the shoe sold in the shop ?

{a) Arithmetic mean

(b) Geometric mean
{¢) Median

{(d) Mode

94i

95.

(33-A)

When the class intervals have equal width,

the height of a rectangle in a histogram

represents
(a) Width of the class
(b) Lower class limit

(c)_ Upper class limit

(d) Frequency of the class

The ages of 7 family members are 2, 5, 12, 18,
38, 40 and 60 years respectively. After 5 years
a new member aged x years is added, If the
mean age of the family now goes up hy

1-5 years, then what is the value of x ?

(a) 1
(b 2
() 3
dy 4

The mean weight of 100 students in a class is
46 kg. The mean weight of boys is 50 kg and
that of girls is 40 kg. The number of boys
exceeds the number of girls by

(a) 10
(b) 15
| © 20
d 25
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97. WE 25 65, 73, 75, 83, 76, 17, 15, 7, 14 % UH|99. 2, 4,6, ..., 100 i WHETH 1 ] 2
g & W @ fag e Reed w0 e

TG T2 2 (a) 48
@ -1 w4
® 0 (© 50
© 1 @ 51
@ 2

100. 3 el % o A AR iR A

98, UhﬁWﬁx,x+2,x+4,x+6,x+8WWﬁ _ . _
U 10 3 12 & | I THR Ao R 7

2 | v T Dol o/ wver R 2

25
{a) m : (a) 3
by m-1 : (b J120
(c}-_ m-2 {cd 11
(d) m-3 ‘ (d-} 144
DZOL-T-LKM (34-A)
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97. What is the algebraic sum of the deviations |99,
from the mean of a set of values 25, 65, 73, 75,

83,76,17,15,7,14 7
(a) -1
(b) 0
© 1
d@ 2

98. The mean of five observations x, x + 2, x + 4,
X + 6, x + 8§ is m. What is the mean of the first
three observations ?

(a}) m
(b) m-=1

(c) m-2

d m-3
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100.

What is the median of 2, 4, 6, ..., 100 ?

{a) 48
(b) 49
e} 50
(d) 51

The harmonic mean and the geometric mean
of two numbers are 10 and 12 respectively.
What is their arithmetic mean ?

() %
(b) 120
© 11
(d) 144
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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BCOKLET DOES NOT HAVE ANY UNFRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility ta encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that- there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided, See directions
in the Answer Sheet. '

All items carry equal marks. -

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. : :
After you have completed filling in all your responses on the Answer Shest, and the examinatjon has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Baoklet. _ :
Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers ;

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.
(1) There are four alternatives for the answer to every question. For each question for which a wrong answer

has lieen given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty,

(ii)  If a candidate gives more than one answer, it will be treated as a wrong anewer even if one of the given
answers happens to be correct and there will be sgme penalty as above to that question.

(iii If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty far that
question.
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